



Nimi: _____

Päivämäärä: _____ Pisteet: _____

$$\left(-\frac{1}{2}\right) + \frac{2}{5} =$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{2}\right) + \frac{3}{4} =$$

$$\left(\frac{3}{4}\right)^2 + \frac{3}{5} =$$

$$\left(\frac{1}{5}\right)^2 + \frac{1}{6} =$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{5} =$$

$$\left(\frac{1}{2}\right)^0 + \frac{1}{6} =$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{6}\right) + \frac{1}{3} =$$

$$\left(\frac{1}{6}\right)^0 + \frac{1}{2} =$$

$$\left(\frac{1}{2}\right) - \frac{1}{6} =$$

$$\left(\frac{1}{6}\right) + \frac{3}{5} =$$

$$\left(-\frac{1}{6}\right) + \frac{1}{3} =$$

$$\left(-\frac{1}{5}\right)^3 + \frac{1}{3} =$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{5}\right)^3 - \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right)^3 + \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{4}\right) - \frac{1}{4} =$$

$$\left(-\frac{3}{4}\right)^2 - \frac{3}{4} =$$

$$\left(\frac{1}{3}\right)^3 - \left(-\frac{1}{6}\right) =$$



Nimi: _____

Päivämäärä: _____ Pisteet: _____

$$\left(-\frac{1}{2}\right) + \frac{2}{5} = \left(-\frac{1}{10}\right)$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{6}\right) = \left(-\frac{1}{24}\right)$$

$$\left(\frac{1}{2}\right) + \frac{3}{4} = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(\frac{3}{4}\right)^2 + \frac{3}{5} = \frac{93}{80} = 1\frac{13}{80}$$

$$\left(\frac{1}{5}\right)^2 + \frac{1}{6} = \frac{31}{150}$$

$$\left(\frac{3}{4}\right)^2 + \frac{1}{5} = \frac{61}{80}$$

$$\left(\frac{1}{2}\right)^0 + \frac{1}{6} = \frac{7}{6} = 1\frac{1}{6}$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{2}\right) = \frac{3}{4}$$

$$\left(-\frac{1}{6}\right) + \frac{1}{3} = \frac{1}{6}$$

$$\left(\frac{1}{6}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{1}{2}\right) - \frac{1}{6} = \frac{1}{3}$$

$$\left(\frac{1}{6}\right) + \frac{3}{5} = \frac{23}{30}$$

$$\left(-\frac{1}{6}\right) + \frac{1}{3} = \frac{1}{6}$$

$$\left(-\frac{1}{5}\right)^3 + \frac{1}{3} = \frac{122}{375}$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{23}{50}\right)$$

$$\left(\frac{1}{5}\right)^3 - \frac{1}{2} = \left(-\frac{123}{250}\right)$$

$$\left(-\frac{3}{5}\right)^3 + \left(-\frac{1}{4}\right) = \left(-\frac{233}{500}\right)$$

$$\left(\frac{1}{4}\right) - \frac{1}{4} = 0$$

$$\left(-\frac{3}{4}\right)^2 - \frac{3}{4} = \left(-\frac{3}{16}\right)$$

$$\left(\frac{1}{3}\right)^3 - \left(-\frac{1}{6}\right) = \frac{11}{54}$$